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|S-LMentary

A number of readers, both at this blog and othacgd, have been asking for an explanation of what
IS-LM is all about. Fair enough — this blogosphevaversation has been an exchange among
insiders, and probably a bit baffling to normal lambeings (which is why | have been labeling my
posts “wonkish”).

[Update: IS-LM stands for investment-savings, ldity-money -- which will make a lot of sense if
you keep reading]

So, the first thing you need to know is that theme multiple correct ways of explaining IS-LM.
That's because it's a model of several interactivagkets, and you can enter from multiple directjons
any one of which is a valid starting point.

My favorite of these approaches is to think of I84-As a way to reconcile two seemingly
incompatible views about what determines interat&gs. One view says that the interest rate is
determined by the supply of and demand for sawntee “loanable funds” approach. The other says
that the interest rate is determined by the tréddestiveen bonds, which pay interest, and money,
which doesn’t, but which you can use for transatiand therefore has special value due to its
liquidity — the “liquidity preference” approach. €8, some money-like things pay interest, but
normally not as much as less liquid assets.)

How can both views be true? Because we are at ramitalking about *two* variables, not one —
GDP as well as the interest rate. And the adjustmie@DP is what makes both loanable funds and
liquidity preference hold at the same time.

Start with the loanable funds side. Suppose thsiteld savings and desired investment spending are
currently equal, and that something causes theestteate to fall. Must it rise back to its origina
level? Not necessarily. An excess of desired imaest over desired savings can lead to economic
expansion, which drives up income. And since softherise in income will be saved — and
assuming that investment demand doesn't rise loguach — a sufficiently large rise in GDP can
restore equality between desired savings and desivestment at the new interest rate.

That means that loanable funds doesn’t determméntierest rate per se; it determines a set of
possible combinations of the interest rate and G, lower rates corresponding to higher GDP.
And that’s the IS curve.

Meanwhile, people deciding how to allocate theiaitreare making tradeoffs between money and
bonds. There’s a downward-sloping demand for mentie higher the interest rate, the more people
will skimp on liquidity in favor of higher return§&uppose temporarily that the Fed holds the money
supply fixed; in that case the interest rate messuch as to match that demand to the quantity of
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money. And the Fed can move the interest rate Bpging the money supply: increase the supply of
money and the interest rate must fall to inducepfgetw hold a larger quantity.

Here too, however, GDP must be taken into accauhigher level of GDP will mean more
transactions, and hence higher demand for monbkgr ttings equal. So higher GDP will mean that
the interest rate needed to match supply and defeamidoney must rise. This means that like
loanable funds, liquidity preference doesn’t deiemnihe interest rate per se; it defines a set of
possible combinations of the interest rate and GIfe LM curve.

And that's IS-LM:
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The point where the curves cross determines botR &ml the interest rate, and at that point both
loanable funds and liquidity preference are valid.

What use is this framework? First of all, it heyjgai avoid fallacies like the notion that because
savings must equal investment, government speradingot lead to a rise in total spending — which
right away puts us above the level of argumentférabus Chicago professors somehow find
convincing. And it also gets you past confusioks the notion that government deficits, by driving
up interest rates, can actually cause the econorogritract.

Most spectacularly, 1IS-LM turns out to be very wsédr thinking about extreme conditions like the
present, in which private demand has fallen séhiarthe economy remains depressed even at a zero
interest rate. In that case the picture lookstliks:
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Why is the LM curve flat at zero? Because if therieast rate fell below zero, people would just hold
cash instead of bonds. At the margin, then, mos@yst being held as a store of value, and changes
in the money supply have no effect. This is, ofrseyuthe liquidity trap.

And IS-LM makes some predictions about what happetise liquidity trap. Budget deficits shift IS
to the right; in the liquidity trap that has noesff on the interest rate. Increases in the mongglgu
do nothing at all.

That’'s why in early 2009, when the WSJ, the Aussjaand the other usual suspects were screaming
about soaring rates and runaway inflation, those widerstood 1S-LM were predicting that interest
rates would stay low and that even a tripling @f thonetary base would not be inflationary. Events
since then have, as | see it, been a huge vindicér the 1S-LM types — despite some headline
inflation driven by commodity prices — and a hugguire for the soaring-rates-and-inflation crowd.

Yes, IS-LM simplifies things a lot, and can’'t b&ea as the final word. But it has done what good
economic models are supposed to do: make senseabfiwe see, and make highly useful predictions
about what would happen in unusual circumstancesn&mists who understand IS-LM have done
vastly better in tracking our current crisis thaople who don't.
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